Fitting instruction Crash-Pads Honda CBR 600 RR 07>

Part. No.: 550H117.1

Important: If you are not a trained motorcycle mechanic stop now! Ask a local motorcycle shop to do

the work for you!

The tightening torques of the M6 bolts refer to the manufacturer’s instructions!

Fitting on the right side

engine cover,

Fitting on the left side

M6x35

-He=—=-¢

M10x1,25x70
Tightening torque: 35Nm

adaptor plate

epacer l=12mm (Identification "H117/R")

M6x50
. — — —

M6x40
r— ==
|
!

N

spacer [=10mm

'____ 7

spacer |=3mm

adaptor plate
(Identification "H117/L")

(26,25bf ft)
- AT
spacer |=40mm

M6x40 r
==
direction
driving "touch down"
direction area

left

LSL

LSL-Motorradtechnik GmbH ¢ D-47809 Krefeld
www.lsl.eu

engine cover,

M10x1,25x40
Tightening torque: 35Nm
(26,25Ibf ft)

Stand: 07/2007



	Model

